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QUESTION 1

Given the code fragment:

B> lund App.java % | +
O src 2 interface I {
3 public void displayI();
4q

}

5 abstract class C2 implements I {

[ public void displayC2() {

7 System.out.print(“"C2");

g}

2}

10 class Cl extends C2 {
1 publie wvoid displayI() {
2 System.out.print("C1l");
3 }

l

5

6

}

I gy

17 publie class App {
18 public static void main(String[]) args) {

19 C2 objl = new Cl();
20 I obj2 = new Cl();
21
22 €2 s = (C2) obi2;
23 It = objl;
24
25 t.displayI();
26 s.displayC2();
27, )
28
29 }
Conscle1 ™ IGonsole2  * IComecled ™ IConsolesa %

cicz2
Completed with exit code: 0
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And given the requirements:

1.

Process all the elements of the array in the reverse order of entry.

2.

Process all the elements of the array in the order of entry.

3.

Process alternating elements of the array in the order of entry.

Which two statements are true? (Choose two.)

A. Requirements 1, 2, and 3 can be implemented by using the enhanced for loop.
B. Requirements 1, 2, and 3 can be implemented by using the standard for loop.
C. Requirements 2 and 3 CANNOT be implemented by using the standard for loop.
D. Requirement 2 can be implemented by using the enhanced for loop.

E. Requirement 3 CANNOT be implemented by using either the enhanced for loop or the standard for loop.

Correct Answer: BD

QUESTION 2

Given:

class MarksOutOfBoundsException extends IndexOutOfBoundsException { }
public class GradingProcess {

void verify(int marks) throws IndexOutOfBoundsException {
if (marks > 100) {

throw new MarksOutOfBoundsException();

}

if (marks > 50) {

System.out.print("Pass");

}else {

System.out.print("Fail");

}

}
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public static void main(String[] args) {
int marks = Integer.parselnt(args[2]);
try {

new GradingProcess().verify(marks));
} catch(Exception e) {
System.out.print(e.getClass());

}

}

}

And the command line invocation:

Java grading process 89 50 104

What is the result?

A. Pass

B. Fall

C. Class MarketOutOfBoundsException
D. Class IndexOutOfBoundsException
E. Class Exception

Correct Answer: C

Explanation: The value 104 will cause a MarketOutOfBoundsException

QUESTION 3

Given:
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The class is poorly encapsulated. You need to change the circle class to compute and return the area instead.

Which two modifications are necessary to ensure that the class is being properly encapsulated?

A. Remove the area field.

B. Change the getArea( ) method as follows: public double getArea () { return Match.PI * radius * radius; }
C. Add the following method: public double getArea () {area = Match.PI * radius * radius; }

D. Change the cacess modifier of the SerRadius () method to be protected.

Correct Answer: BD

QUESTION 4

Given:

public class Test {

static boolean bVar;

public static void main(String[] args) {
boolean bVarl = true;

int count =8;

do {

System.out.printin("Hello Java! " +count);
if (count >=7) {

bVarl = false;

}
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} while (bVar != bvarl andand count > 4);
count -= 2;

}

}

What is the result?

A. Hello Java! 8 Hello Java! 6 Hello Java! 4
B. Hello Java! 8 Hello Java! 6

C. Hello Java! 8

D. Compilation fails

Correct Answer: C

Explanation: Hello Java! 8

QUESTION 5

Given:

import java.util.*;

public class Ref {

public static void main(String[] args) {
StringBuilder s1 = new StringBuilder("Hello Java!");
String s2 = s1.toString();

List Ist = new ArrayList(); Ist.add(s2);
System.out.printin(s1.getClass());
System.out.printin(s2.getClass());
System.out.printin(Ist.getClass());

}

}

What is the result?
A. class java.lang.String class java.lang.String class java.util.ArrayList
B. class java.lang.Object class java.lang. Object class java.util.Collection

C. class java.lang.StringBuilder class java.lang.String class java.util. ArrayList
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D. class java.lang.StringBuilder class java.lang.String class java.util.List

Correct Answer: C

Explanation: class java.lang.StringBuilder class java.lang.String class java.util. ArrayList
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